Anbauhinweise fur Crash- Pads Yamaha FZS 600 Fazer
Art.Nr.: 550Y078

Wichtig: Wenn Sie kein ausgebildeter Mechaniker sind, wenden Sie sich bitte an eine Fachwerkstatt.

Bitte unbedingt vor dem Anbau beachten!
Die Montage der Crash-Pads muss seitenweise erfolgen!
Das gleichzeitige Lésen der beiden Motorhalteschrauben ist zu vermeiden!

Anbau der rechten Seite
Das Crash Pad wird an der motorseitigen Verschraubung (Motorhalteschrauben) montiert.

orig. Mutter

=7
Buchse Smm M10x1,25x180

Anzugsdrehmoment: SSNm

Anbau der linken Seite
Das Crash Pad wird an der motorseitigen Verschraubung (Motorhalteschrauben) montiert.
Der Kihlerschlauch muss leicht zur Seite gedriickt werden.

Fahrtrichtung

Rahmenunterzug

orig. Mutter
M10x1,25x200 =
Anzugsdrehmoment: SSNm Buchse{ 1=105mm \
L

LSL

MAKING 600D BIKES PERFECT

Paaschburg & Wunderlich GmbH - D-21509
www.lsl.eu


mailto:info@lsl.eu

Mounting instructions crash-pad kits Yamaha FZS 600 Fazer
Part no.: 550Y078

Important!
If you are not a trained motorcycle mechanic stop now! Ask a local motorcaycle shop to do the
work for you.

Please take extra care!
The mounting of the crash-pads has to be done side by side! At all times you have to prevent that the
engine mounting bolts are not loose at the same time!

Fitting on the right side:
Mount the crash-pad on the engine side of the front engine mounting point.

original nut

spacer (=75mm M10x1,25x180
fitting torque:
S ] 55Nn (41,251!)5/?1:)
H il |=n mﬂ 3
b
—

Fitting on the left side:
Mount the crash-pad on the engine side of the front engine mounting point. Push the radiator hose a little
to the side to have more space for the crash pad.

driving direction

radiator hose

frame trussing

engine

original nut
M10x1,25x200 SpaCeEEL05MIn \
fitting torque 55Nm (41,251bs/ft) ‘ ~ / !‘
—
S ®
MAKING GOOD BIKES PERFECT

Paaschburg & Wunderlich GmbH - D-21509
www.Isl.eu


mailto:info@lsl.eu

